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Note : This paper is of Forty (40) marks divided into two (02)
Sections A and B. Attempt the questions contained in
these sections according to the detailed instructions given
therein.
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SECTION-A/( @US-% )
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Note : Section 'A' contains Five (05) long answer type
questions of Ten (10) marks each. Learners are required
to answer any Two (02) questions only.

(2x10=20)
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1. What are nucleophilic substitution reactions? Explain the
mechanism of SN! and SN? reactions in aliphatic
compounds.

Jfreraif e gioeems sifafean €2 Wfakfes i
HSN! &R SN2 srfuferansit #t fopanfafa 1 saren i)

2. Discusss any two of the following :
(a) Resonance.
(b) Hyperconjugation.

(c) Inductive effect.
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3. What is hybridization? Explain the different types of
hybridization occurrs in the organic compounds.
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4. What do you understand by Isomerism? Explain its types.
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5. Give the mechanism of any three of the following reactions :

(a)
(b)
©
(d)

Oxymercuration-Demercuration.
Birch reduction.
Diels-Alder reaction.

Friedel craft acylation.
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Note :

e -

Section 'B' contains Eight (08) short answer type
questions of Five (05) marks each. Learners are required
to answer any Four (04) questions only.  (4x5=20)
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Give the mechanism of 1, 2 and 1,4 addition reaction to 1,3
butadiene. What is the effect of temperature to the addition
of HBr to 1,3 butadiene.
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What are the important factors affecting the stability of
carbanions? Discuss the structure of carbanions.
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Which conformation of cyclohexane is the most stable and
why?

AEFiReT ® -9 @ a9 st iR § 8l
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Describe the benzyne mechanism of nucleophilic aromatic
substitution reaction.
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Expalin any two form the following :
(@) Ortho/para ratio.
(b) Aromaticity.

(¢) Symmetry elements.
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6. What are Carbenes? How they are generated? Give the
structure of Singlet and Triplet carbenes.
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7. Expalin the following with suitable example :
(a) Markovnikov's Rule.

(b) Sytzeff rule.
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8. Draw the major product of the following reactions :
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KMnO4

—_—=C— ————
(b) HsC—C=C—H o ?

NH,
NaNO,, HCI
H50, 0-5 °C
COOAg

(d
CI2/Heat
———
H
(e) O Br » 7
No Peroxides
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